3’ 20GA, STRUT ATTACHED
W/ @ 1/4" x 1"

HEX HEAD SCREWS AT
EACH END STILE

. E,l__ 3’ x 20 GA. STRUT
14 GA 1.25° X 125 X 1 25 GA (MIN> / 12 GA TOP FIXTURE ATTACHED W/

2" 10 BALL STEEL 9'
STEM H/T HURRICANE
ROLLER W/ 7/16°
RETAINER FOR
NON-THREADED SHAFTS

. EXTERIOR SKIN 4) 1/4* x 1 HEX HEAD
PUNCHED ANGLE ATTACHED TO
0 ADJUSTABLE ROLLER CARRIER B A Ay SLIDE
- ] ON TOP FIXTURE WITH (D Vs 174 x 175" BOLT
” .
N 5/16° X 3/4° BOLT AND NUT A NUTS
»
12 GA. GALV. COMMERCIAL
TOP ROLLER BRACKET ADJUSTABLE ROLLER CARRIER . 3" x 20 GA. STRUT
ATTACHED W/C4) 1/4° x 1° ATTACHED W/ @ 1/47 x 1/2* -
HEX HEAD SCREB\éSCQg [ X J BOLT & NUT PER BRACKET
Al

3 20GA. STRUT ATTACHED

END_HINGE W/ @ 1/4° x 1
14 Ga. HEX HEAD SCREWS AT
EACH END STILE

~——
TYPICAL TOP FIXTURES 1
N.T.S.

3’ x 20 GA. STRUT 14GA, CENTER HINGE
ATTACHED
W/ (D) 1/4" x 1

HEX HEAD SCREWS

TYPICAL CENTER HINGE 8
N.T.S.

—32° MAX. SECTION HEIGHT

3* x 20 GA. STRUT
3* 20GA. STRUT
ATTACHED W/ (2
174" x 1 HEX HEAD
SCREWS

27 GA INTERIOR SKIN

14 GA. END HINGE ATTACHED
W/ 6) 174" x 1*

14GA. ADJUSTABLE ROLLER HEX HEAD SCREWS

CARRIER ATTACHED TO STRUT
W/ (@) 174" x 3/4°
HEX HEAD SCREWS

37 x 20 GA. STRUT

2 10 BALL STEEL 9
STEM H/T HURRICANE T
ROLLER W/ 7/16°
RETAINER FOR
NON-THREADED SHAFTS

3" 20GA. STRUTS
ATTACHED W/ (@
174* x 1 HEX HEAD
SCREWS

BOTTOM BRACKET
ATTACHED

W/ (5) 1/4" x 1"
HEX HEAD SCREWS

TYPICAL END HINGE 3
N.T.S.

—
>

ROLLER W/ 7/16"
RETAINER FOR
NON-THREADED SHAFTS

3 x 20 GA, STRUT REV | DESCRITION OF REVSIONS E By
f MAX SIZE =
SEE TABLE 2 e 90 x 14 | &7 SNy 3

PAGE 3 &) ~SNan

-0 MAX e ST DESIGN LOADS 38 SREOF TN 9
e SECTION A=A (SIDE VIEW) +508PSF | 57 NS5
S Chd *e =
INSIDE ELEVATION SCREWS —-59.8 PSF EE Z s Ry )' 2
N.TS. BE [/ k) 2
: TesT Loaps | BE 2.0 Ceasnl——5
BOTTOM BRACKET (15 » DESEN Loars)| £ . T .
13 GA, THICK ATTACHED £3 pAA SRECVIERD g
W/(S) 1/4° X 1 +gg.§ ggg sg AN 85820949 4 <
“REs | ARGE MISSLE W A el |
598 Y *SENSC,@,-’ =
LaG STREY PER © IMPACT RESISTANT LARGE MISSLE| 82 WOSIONAL BN 2 3
JAMB BRACKET 2’ 10 BALL STEEL 9° IMPACT | 58 A o
STEM H/T HURRICANE RESISTANCE ‘,'E% §
wn

2 10 BALL STEEL 9 N.T.S.

TYPICAL BOTTOM BRACKET/ 4\ /
&) arr

STEM H/T HURRICANE THE METHOD OF TESTING WAS IN SUBSTANTIAL
e e ¢ CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM
2" GALV. STEEL TRACK INTERMEDIATE NON-THREADED SHAFTS F330, E1886, E1996 & F588, DASMA 108 & 115. THE
TRACK THICKNESS 083" HINGES 14GA (MIN) 14GA. ADJUSTABLE ROLLER PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED
1/4-20 x S5/8°TRACK CARRIER ATTACHED TO STRUT USING ASCE 7-16 WITH THE FOLLOWING PARAMETERS (5 FEET MODEL #3000 AMARR CLASSICA 3000
SPLICE BOLT AND NUT AT A Al OF DOOR WIDTH IN THE END ZONE, ROOF AT ANY SLOPE):
’ 19 4
TRACK MOUNTING DETAIL WIND SPEED (MPH) | 232 | 211 201 2 18 SZE| DRAWNBY DL | DATE 1/25/2 DRAWNG NUMBER
NTS. EXPOSURE LEVEL B c C D D RC= 3309180151
MEAN ROOF HEIGHT | 30° | 15 | 25 | 15 | 25 B| ceomBy oRe| DATE 1/26/2
AMARR COMPANY SHEET 1 OF 3
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105




055 6060 EXTRUDED ALUMINUM TOP FIXTURE REINFORCEMENT

34; g%'lg;TEER ’55 Eﬁggg TN TAL SCREVS 13 GA. FLAG BRACKET ATTACHED TO WOOD— B
' USEDH'FI:?DFEgFgJMEJSLAESﬁIENﬁﬁ , ILLUSTRATION JAMB/ (3> 5/16 DIA. X 1-5/8° LAG BOLTS AND , ’,
1/4* TUFFAK POLYCARBONATE INTERIOR FRAME TO THE TO TRACK W/ (4 1/4°-20 x 5/8" TRACK fjj = ExxxIrIn :
yANUFACTURED BY PLASKOLITE ALUMINUM EXTERIOR FRAME\ SPLICE BOLTS AND NUTS //
.
SPLICE TRACKS AT THIS LOCATION
W/ (4> 1/4'-20 TRACK SPLICE
5 BOLTS & NUTS SECURE TO JAMB
WITH ¢3) 5/16 DIA. X 1-5/8 LAG
v g BOLTS
055" 6060 EXTRUBED ALUMINUM (H55;3> ’)_(m%’/ iESPNSTEIQEEﬁﬁ
IMPACT EXTERIOR FRAME MANUFACTURED BY BOSTIK

(1> 5/16° DIA, x 1-5/8°
LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

(SPLICE)

SECTION B-B IMPACT WINDOW DETAIL
N.T.S.

12 GA. GALV. STEEL
JAMB BRACKETS
37-3/4" MAX. DLD

A
THROUGH ATTACHED W/ (1> 1/4°-20 x S/8°
:D TRACK SPLICE BOLT & NUT
[ ] [ ] £ ® [} O ':' 1'

o NG F-

E
20-1/4 w L1 O TRIC VIEW )

TOP FIXTURE ADDER PIECE

MAX., DLO 1§
| | 1L »
T T
= ) ¥ I___j%:__l I
END VIEW SIDE VIEW A
B GLAZING FASTENER DETAIL B NOTES: SEE (TABLE 1) FOR -
NTS, 1. ZINC COATING JAMB BRACKET SPACING
2. MATERIAL YIELD STRENGTH: 35-49 KSI.
3. MATERIAL HARDNESS: 50—60 ROCKWELL B. STANDARD TRACK CONFIGURATION FOR 7° AND 8’ TALL DOORS
4. 1.25" X 1.25" X 1" X 14 GA PUNCHED ANGLE N.TS.
ATTACHED W(1) 5/16” X 3/4" BOLT AND NUT
REV | DESCRIPTION OF REVISIONS DA  |BY
SPECIFICATIONS AND
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE MAX SIZE S
TABLE 1 VERTICAL TRACK, FROM THE TRACK THE LOAD IS TRANSFERRED 90 x 14 |s@ g
TO THE VERTICAL ﬁJAMBg.F TTHEE rli_gRIZONTAL JAMB ORF HEAD%_TE Do0R CESIGN LOADS ag » \s\\\\\\ R
RECEIVES NO PORTION HE LOAD TRANSFERRED FROM ) 83 ~4E0 Q
DOOR TRACK ATTACHMENT TYPICAL 2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: +50.8 PSF | =2 PN 54’4 \ N S
~ SPLICE +228.6 LBS/FT & -269.1 LBS/FT -59.8 PSF | 2% 2 %~ 4 S
- 3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED Sz gx/ w2
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA. TEST LoADS | EE /et e
4. DOOR SECTIONS SHALL BE 25 GA. (.019) MIN. EXTERIOR SKIN (15 x bEsien Loos)| £ < L 3 PR
AND 27 GA. (.015) MIN. INTERIOR SKIN, ROLLED FORMED, +76.2 PSF | B4 ERERBITIyc Ur z
G30 GALVANIZED W/POLYESTER TOP COAT -80.7 PSF |ES ',o -, 85829 s =
6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED 23 470 LcENSED.: \{3"' 5
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS 59 V&g o @ £
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS. LARGE MISSLE| £ § \ /ONA\.\"; o~ z
7. DOOR IS MANUFACTURED AND TESTED IN ACCORDANCE WITH IMPACT | 5% A Q
THE 2018 IRC/IBC RESISTANCE | =2 TX N
. wn

INTERIOR OF GARAGE arr

— MAX. WIDTH 9’0" [——

ALL TRACK ATTACHMENT SPACING +/— 2" ALLOWED WITH SYP OR SPF NO. 2 OR BETTER ONLY

MODEL #3000 AMARR CLASSICA 3000

pesieN Loaps [ [ [ P T 111

+228.6 LBS/FT
-269.1 LBS%FT SEE NOTE 2 SZE| RN BY  DLJ| DA 1/25/21 DRAMNG NUNBER
B | HECKED BY DRC| DATE 1/26/21 IRC-3309-180-15-I
165 CARRIAGE CDSS?RSIElg?gSTgALEM, N.C. 27105 SHEET 2 OF 3




TABLE 2

. Center Stile Location
,‘Se?‘pén Panel Type (Measured from Left
Width 1st 2st

(ft) (in) (i)
6'0 Short 24.6 47.4
70 Short 29.1 54.9
72 Short 29.9 56.1
7'4 Short 30.6 57.4
7'6 | Long/Short 45.0
7' 8 | Long/Short 46.0
7':10| Long/Short 47.0
8 0 | Long/Short 48.0
8'2 | Long/Short 49.0
'8'4 | Long/Short 50.0
8' 6 | Long/Short 51.0
8' 8 | Long/Short 52.0
8' 10| Long/Short 53.0
9'0 | Long/Short 94.0

7

/

%

Al »

%

|

7

/

/i

é

y

7

'_.

I

= £

25 al .

24 3 £

2 24 ﬂ %ﬂ

a |5k Z{h @

LN

AVAILABLE TRACK CONFIGURATIONS

N.T.S.

LOW HEADROOM

WOOD JAMB ATTACHMENT TO STRUCTURE

2 X 6 VERTICAL JAMB ATTACHMENT TO WDOD FRAME STRUCTURE

S/16" X 3* LAG SCREWS STARTING 6° FROM ENDS THEN 20 O.C. 1 1/2° EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PS] CONCRETE

HILTI KWIK BOLT 3/8* X 4° STARTING 6° FROM ENDS THEN 24" 0.C. (2 1/2° EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8° X 2-3/4° STARTING 6’ FROM ENDS THEN 18" O.C. <1 1/4" EMBEDMENT)

ITW/RAMSET REDHEAD (TRU-BOLTY> 3/8” X 4° STARTING 6 FROM ENDS THEN 24“ 0O.C. (2 1/2" EMBEDMENT)
MB ATTA T T0O H W _C-90 < N>

SIMPSON 1/4° X 3* TITEN SCREWS STARTING 6* FROM ENDS, USE PAIRS OF FASTENERS

(3’ APARTY AT 8° OC. <1 1/2° EMBEDMENT)

HILTI 1/4° X 2-3/4" KWIK-CON II+ SCREWS STARTING 6° FROM ENDS, USE PAIRS OF

FASTENERS (3 APART> AT 8° O.C. <1 1/4° EMBEDMENT>

2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-9¢ BLOCK ¢2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8° X 2-3/4" STARTING 6° FROM ENDS THEN 22° O.C. (1 1/47
EMBEDMENT) <OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF wWOOD JAMBS BY OTHERS

1 1 A

Y
WOoD CONCRETE HOLLOW BLOCK
= STRUCTURE STRUCTURE STRUCTURE GROUTED E-0Ck
‘s’ I I '
u \ \ \ " \
== =] o ]
- o) g J J
172* MIN  2-3/4" MIN 1-1/72" | MIN 47
2X6 JAMB '
TYP. 3 MIN
SECTION | STRUT SIZE REV | DESCRIPTION OF REVISINS DAE  [BY
3"
TOP
3" MAX SIZE o
9'0 x 14’ =m by
" Q8 5
3" DESIGN LOADS RF o
5TH " +50.8 PSF | ¥2 =
3 -59.8 PSF Eg 5
3n EE P-4
ATH TEST LOADS | && .
" (1.5 x DESIGN LOADS) .QE)E .
3 +76.2 PSF | B'a g
" —-B89.7 PSF | E9 >
3 25 =
3RD " 23 2
3 LARGE MISSLE| g 3
IMPACT EE o
3" RESISTANCE | £ 2 S
[=2)
2ND 3" QR
3”
BOTTOM 3
MODEL #3000 AMARR CLASSICA 3000
SZE| DRAWNBY  DLJ | DATE 1/25/21 DRAWING NUMBER
B | cHEckep BY DRC| DATE 1/26/21 IRC-3309-180-15-1
NY
165 CARRIAGE COLRT wiNSTON-SALEW, e, o7ios | T 3 OF 3




